
Chapter 1: U.S. Medical Care: A System in Transition 

Multiple Choice 

 

1. Opportunity cost is a measure of 

a. foregone opportunities.  

b. value based on the alternative not chosen.  

c. value in terms of the cost of production.  

d. the difference between production cost and resource cost.  

e. both a and b.   

 

2. The opportunity cost of investing in a new lithotripter (a machine that pulverizes kidney stones 

with sound waves) is  

a. defined by the dollar cost of the equipment.   

b. the same for every health care provider.   

c. measured by the difference between the expected revenues from selling the services 

of the lithotripter and the invoice cost of the machine.   

d. defined by the next best use of the money invested in the equipment.   

e. impossible to calculate.   

 

3. The “invisible hand” using Adam Smith’s terminology refers to  

a. government control of the market.   

b. market forces working through the price mechanism.   

c. the money supply that serves to keep the economy working smoothly.   

d. the role of innovation in maintaining a steady rate of growth.   

e. “behind-the-scenes” policy making to influence how markets allocate scarce 

resources.   

 

4. According to recent public opinion polls, what percentage of Americans are satisfied with the 

quality of the medical care they receive?   

a. 15 percent.  

b. 40 percent.  

c. 65 percent.  

d. 75 percent.  

e. 90 percent.  

 

5. Charging higher prices for one category of patients in order to provide free or subsidized care 

to another group is called 

a. price discrimination.  

b. cost-shifting.  

c. categorical costing.   

d. reprehensible and unethical.  

e. creative accounting.   
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6. According to economic theory what is the optimal percentage of GDP to be spent on medical 

care?   

a. 6 percent.  

b. 8 percent.  

c. 10 percent.  

d. 12 percent.  

e. There is no widely-accepted way to determine the optimal percentage.   

 

7. What phrase best describes medical care spending in the United States in 1998?   

a. Total spending of more than $2 trillion represents 17 percent of GDP and 

approximately $8,000 per capita.   

b. Total spending of more than $1 trillion represents 14.8 percent of GDP and almost $6,000 

per capita.   

c. Total spending of less than $1 trillion represents less than 13 percent of GDP and almost 

$3,000 per capita.   

d. Total spending is rising at double-digit rates and spending is soaring to over $5,000 per 

capita.   

e. Total spending is under control and represents a shrinking percentage of GDP.   

 

8. The 1974 federal legislation that exempted employers from certain state laws governing health 

insurance was 

a. COBRA 

b. ERISA 

c. CON 

d. HIPAA 

e. SCHIP 

 

9. Which of the following statements is based on positive analysis?   

a. Individuals without health insurance have less access to physicians’ services than 

those who have health insurance.   

b. The high cost of health insurance places U.S. firms at a competitive disadvantage 

with their foreign competitors.   

c. Employers should be required to provide health insurance for all full-time workers 

and their dependents.   

d. none of the above.   

e. Both a and b.   

 

10. Economists use the term “marginal” to describe costs and benefits 

a. that are minimal and hardly worth noting.   

b. that are incremental and thus relevant to decision making.   

c. that are noteworthy but not the most important.   

d. whose importance can be minimized through hard work.   

e. none of the above.   

 



11. Self insurance refers to the practice of setting aside funds to pay for medical care expenses 

instead of paying premiums to an insurance company.  Approximately, _______ of all 

employees who participate in group insurance plans work for firms that self-insure.  

a. one-fourth 

b. one-third 

c. one-half 

d. two-thirds 

e. three-fourths 

 

12. Which of the following is not a characteristic that makes medical care different from other 

commodities?   

a. Demand for medical care is irregular. 

b. Sellers have more information than buyers.   

c. Third-party payers abound.  

d. For-profit providers play a major role in delivering medical care.   

e. The transaction itself if filled with uncertainty.   

 

Structured Discussion: 

1. Resolved: The United States system of health care delivery is in a state of crisis.   

2. Resolved: The recent slowing of health care spending as a share of gross domestic 

product will continue.  In other words, the relative size of the health care sector has 

reached a natural limit.   

 

Appendix 1A: The Medical Care Price Index 

This appendix demonstrates the use of price indexes to measure price changes.  Caution is 

advised in interpreting changes in fixed-weight indexes, such as the Consumer Price Index (CPI) 

and the Medical Care Price Index (MCPI), as a measure of inflation.  Problems in using the 

MCPI to measure medical inflation are discussed, including what to measure, how to account for 

quality improvements, and how to incorporate new products into the index.   

 

Appendix Objectives 

1. Summarize the issues involved in measuring price changes with price indexes.   

2. Describe the use of the medical care price index in measuring changes in medical care 

prices.   

3. Specify alternatives for measuring price changes.   



Appendix Outline 

 

a. Measuring price changes with index numbers 

b. Medical care price index 

c. Problems with using a fixed-weight index as a measure of inflation 

 1. Measuring inputs instead of outcomes 

 2. Measuring quality changes 

 3. Accounting for new products 

 4. Other problems 

`  a) Use of list prices 

  b) Sampling 

  c) Substitution bias 

d. Alternative methods to measure medical care inflation 

e. Summary and conclusions 

 



Chapter 2: Using Economics to Study Health Care Issues 

Multiple Choice 

 

1. An inferior good 

a. has a negative income elasticity.  

b. is one where the demand curve shifts to the left when income goes up.   

c. exists only in theory.   

d. is a low-quality good.  

e. Both a and b are true.   
 

2. Which of the following will not change the demand for office visits to the physician? 

a. unusually cold and damp weather during the winter.   

b. a change in the price of an office visit.   
c. layoffs at the local plant causing a decrease in the number of people with health 

insurance in the community.   

d. television advertising by drug manufacturers to promote a new over-the-counter 

influenza treatment.   

e. they all change the demand for office visits.   

 

3. Which of the following will not cause a shift in the medical care supply curve? 

a. a change in the cost of medical school tuition.   

b. a change in the percentage of the population with health insurance.   
c. an change in the amount of student aid available to promising undergraduate students 

studying biology.   

d. A change in the number of high-profile medical malpractice lawsuits brought against 

physicians increasing the premiums on malpractice insurance.   

e. A wave of union activity that increases the average salaries of nurses nationwide.   

 

4. Supply curves are positively-sloped because of  

a. inefficient allocation of resources.   

b. the law of diminishing returns.   
c. economies of scale.   

d. self-interested suppliers seeking economic profit.   

e. all of the above.   

 

5. A shortage of hospital beds will likely lead to  

a. an increase in the supply of hospital beds.   

b. a decrease in the demand for hospital beds.   

c. an increase in the price of a hospital stay.   
d. a decrease in the price of a hospital stay.   

e. none of the above.   

 

6. Suppose angioplasty and coronary artery bypass graft (CABG) surgery are substitute treatment 

alternatives for coronary artery disease.  What should happen to the equilibrium price and 

quantity of angioplasty procedures if a new CABG technique is introduced that is less invasive 



(requiring a 4 inch incision under the breast bone rather than cracking open the patient’s rib 

cage) and requires one-third the recovery period of regular CABG surgery.   

a. Both price and quantity will increase.   

b. Both price and quantity will decrease.   
c. Price will increase and quantity will decrease.   

d. Price will decrease and quantity will increase.   

e. The introduction of a new CABG procedure should have no effect on the price or 

quantity of angioplasty procedures.   

 

7. Suppose the market for hospital outpatient treatment is in equilibrium when a price ceiling is 

set below the equilibrium price.  What do you expect to happen?   

a. A surplus will develop.   

b. A shortage will develop.   

c. Quantity demanded will decrease.  

d. The number of outpatient visits will rise.   

e. The demand for outpatient procedures will fall.   

 

8. A physician’s office expenses increase 10 percent, so she decides to raise the price of office 

visits.  Assuming the demand curve for office visits does not shift, what will happen to the total 

number of office visits and practice revenues?   

a. Office visits and total revenue stay the same if demand is elastic.   

b. Office visits and total revenue rise if demand is inelastic.   

c. Office visits and total revenue fall if demand is inelastic.   

d. Office visits will fall and total revenue will rise if demand is inelastic.   
e. Office visits will rise and total revenue will fall if demand is elastic.   

 

For questions 9-12, use the following scenario.  You are a consultant and have been employed by 

Urban General, a large inner-city hospital, to estimate the demand for its services.  Your research 

indicates that the income elasticity of demand for the target market is +0.50; the price elasticity 

of demand is -0.15; and the cross-price elasticity of demand with respect to the price of services 

at St. Elsewhere, a near-by hospital, is +0.35.  Answer the following questions.   

 

9. The price of services at St. Elsewhere falls by 10 percent.  What happens to the quantity of 

services demanded at Urban General?   

a. Quantity demanded rises by 35.0 percent.   

b. Quantity demanded falls by 3.5 percent.   
c. Quantity demanded falls by 1.5 percent.   

d. Quantity demanded rises by 5.0 percent.   

e. Quantity demanded stays the same.   

 

10. The price of services at Urban General falls by 10 percent.   

a. Quantity demanded at Urban General increases by 15.0 percent.   

b. Quantity demanded at Urban General increases by 1.5 percent.   
c. Quantity demanded at St. Elsewhere rises by 3.5 percent.   

d. Quantity demanded at St. Elsewhere falls by 5.0 percent.   

e. Quantity demanded at Urban General rises by 5.0 percent.   



 

11. Area income increases by 20 percent.   

a. Quantity demanded at Urban General does not change.   

b. Quantity demanded at Urban General falls by 10.0 percent.   

c. Quantity demanded at Urban General rises by 10.0 percent.  
d. Quantity demanded at St. Elsewhere rises by 7.0 percent.  

e. There is not enough information to tell what happens to quantity demanded at either 

hospital.   

 

12. What is the cumulative effect of a simultaneous increase in area income of 5 percent and a 10 

percent increase in prices at Urban General?   

a. Quantity demanded at Urban General falls by 4 percent.   

b. Quantity demanded at Urban General rises by 4 percent.   

c. Quantity demanded at Urban General rises by 1 percent.   
d. Quantity demanded at Urban General falls by 1 percent.   

e. Quantity demanded at Urban General does not change.   

 

13. Suppose the demand curve for medical care services is perfectly inelastic.  What will happen 

to the equilibrium price and quantity if supply increases?   

a. Price and quantity will rise.   

b. Price will stay the same and quantity will rise.   

c. Price and quantity will fall.   

d. Price will fall and quantity will increase.   

e. Price will fall and quantity will stay the same.   
 

14. Within the framework of economics, optimization means providing a good or service until 

a. total benefits are maximized.   

b. total benefits and total costs are equal.   

c. marginal benefits exceed marginal costs by the greatest amount possible.   

d. marginal benefits and marginal costs are equal.   
e. as long as total benefits are greater than total costs, any amount may be optimal under 

the right circumstances.   

 

15. The dead-weight loss from an excise tax  

a. is greater if demand is perfectly inelastic.   

b. is caused by a shift in consumer preferences when the tax is raised.   

c. is the lost surplus that results from higher prices and lower output resulting 

from the tax.   
d. is of little concern to policy makers since all excise taxes are “sin” taxes.   

e. is the difference between consumer surplus and producer surplus.   

 

16. Suppose the U.S. Drug Enforcement Agency steps up its efforts to control the illegal 

importation of cocaine into the United States.  What is the likely effect on the market for illegal 

drugs in the United States?   

a. The price of cocaine and the quantity imported will both increase.  



b. The price of cocaine is likely increase and the quantity entering the country 

decrease.   

c. The price of marijuana, a cocaine substitute grown domestically, will fall.   

d. The policy will have the least impact on those individuals whose demand for drugs is 

elastic.   

e. Demand for drugs is highly inelastic and these policies have little or no effect on 

consumption.   

 

17. The following graph depicts the market for CT scanners in the United States.   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Assume an initial equilibrium at D1 and S1 with price of $200,000 per machine.  If the 

government places a $20,000 excise tax on each new scanner sold, the new equilibrium price 

will be 

a. at least $220,000.  

b. exactly $220,000.  

c. less than $220,000.  

d. there’s not enough information to determine what the new price will be.   

 

18. Suppose robotic technology improves the results of abdominal surgery—less time to perform 

the surgery, faster recovery times, and fewer mistakes.  What is the impact on the market for 

abdominal surgery using this new technology?   

a. Demand for robot-assisted surgery will increase.  

b. Hospitals will be slow to adopt the new technology fearing that it may result in lower 

prices.   

c. The demand for surgical assistants will increase.   

d. All of the above.   

 

Appendix 2A: Graphing Data 

This appendix introduces the technique of graphing as a tool used by economists to clarify 

difficult ideas.  The basics of graphing are addressed, including dependent and independent 

D1 

S1 
S2 

Quantity of CT Scanners 

Price 

$200,000 

$220,000 



variables, slope and intercept, functional relationships, and how to account for confounding 

factors.  The differences between time-series and cross-section graphs are also presented.   

New Content in the 5th edition 

Tables 2A.7 through 2A.9 have been revised along with the discussion related to time series and 

cross-section graphing.   

Appendix Outline 

 

a. Some basics of graphing 

b. Functional relationships 

 1. Time-series graphs 

 2. Cross-section graphs 

 

Appendix Objectives 

1. Understand and use the basic principles of graphing economic data.   

2. Specify functional relationships between two or more variables. 

3. Recognize the importance of controlling for confounding factors when graphing the 

relationship between two variables.  ] 

4. Specify the difference between cross-section and time-series data.   

 

Appendix 2B: Statistical Tools 

This appendix provides a primer on the use of statistics in economic analysis.  Concepts 

addressed include the descriptive statistics mean, median, mode, variance, and standard 

deviation.  Techniques to study statistical relationships between two or more variables, 

correlation and regression, are also discussed.  Examples of the least-squares methods are 

provided for clarification.  The use of measures of significance for hypothesis testing is also 

addressed.   

New Content in the 5th edition 

Tables 2B.1 through 2B.3 have been revised along with the discussion related to the least squares 

methodology.   



Appendix Outline 

 

a. Descriptive statistics 

 1. Measures of central tendency 

 2. Measures of dispersion 

b. Correlation 

c. Regression 

 1. Least-squares methodology 

 2. Measures of significance 

d. Summary and conclusions 

 

Appendix Objectives 

1. Recognize and explain the use of descriptive statistics in studying health care issues.   

2. Define statistical measures such as mean, median, mode, standard deviation, and variance.   

3. Use and understand the tools of correlation and regression.   
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